AL-QADIR JINNAH SCIENCE ACADEMY

[tis Challenge that You can get 12/12 marks in Board Paper (100 % Guranteed)

Q1.

Tick for correct answer.

1X252=252

S ﬁo/’b/,://)cu: AR e s

1.In the lime kiln, the reaction CaCOs5(s) — CaCs) + CO2(q) T goes to completion because:
e os§ L Pt st ST g CaCOs ) — CaCley + COyq) 1

A

(A) High temperature
Z.ﬁ; slJ

(B)

CaCOj3 is more stable than

2.In a chemical reaction, the su

Ca0
CaCO3 =’ ' Cal & uy ¥

s

(C) Constant release of CO,
COy L el S 6

(D) CaO is not dissociated
Ca0 sy < €

bstances which react together are called: : /st 3/ eI AR 2 SIS 1.2

(A) Reactants o~ &,

(B) Products %,

(C) Equilibrium (£ 2 £

(D) Numerator %«

3.When a system is in equilibrium, then:

:?‘at'mﬂdlnféjd:gl(“/vgve.3

(A)
Concentration of reactants
and products becomes equal

cf“/"/J Jﬂ!/, s

(B)

The opposing reactions stop
g (Jsds 1l )"/5/(5)}‘5{1 g
ur e

(C)
The rate of reverse reaction
is very slow

L“lgﬂ{:«%&,/{ﬂld;gﬂ{/

&« db x4z

4.In dynamic equilibrium:

<

[

(D)
The rate of forward and
reverse reaction becomes

Ay 1{/}."./; So Ut 3 5s6

< bt x

oS A4

(A) (B) (€) (D)
The reaction stops to The quantities of reactants | The rate of forward and The reaction can no longer
proceed and products becomes equal | reverse reaction becomes be reversed
- H? UC =& Z'T dﬁg’ d/ Q:J’ﬁ& J‘ffj}/’ ! Jw” d/ /l/ ;4./ Kﬂi (5/ J24s sl 506 b Lf:‘/ S sy u‘%{, U,J
Qo 4z .
< bn
5.In an irreversible reaction, dynamic equilibrium: :ﬁjdﬁJ&’ﬁuﬁu‘ﬂd;ﬂ;{m.S
(A) Never establishes (B) (C) (D) Establishes readily
b S ;g & Establishes before the Establishes after the e bl (”L; Ao e
completion of reaction completion of reaction
nﬁG%gLnJ‘cﬂiu’/ L“n(/’G',u{z_/_J_nJ’&u&’gld/
i &
6.Plants use: (g U1 s4.6
(A) Carbon dioxide (B) Oxygen o= T (C) Nitrogen /s £t (D) Sulphur -
)ljl/f’ Jlf 8
7.The color of iodine is: (e b k3T
(A) Black g (B) Yellow 1 (C) Purple " (D) Green -
8.At equilibrium state, there are possibilities: ?wﬁcnuéu?bf(w:)bd?ijdﬁﬁ



(A) Two » (B) Three o (C) Four (D) Five &L
9.The color of Hl is: i Eu6HI .9
(A) Orange & (B) Purple ¢ (C)Red ¢ ~ (D) Colourless & &

10.The substances which are formed during a chemical reaction are called:

P un £ PSS 2121510

Which takes place from left
to right

< Un Cis uﬁ)cuﬂﬁ

In which reactants react to
form products

b
ot J{f;/.:

IS (- C RNV

(A) Products ¥ 3 (B) Reactants o~ &, (C) Radicals £ (D) Elements o=~
11.Reversible reaction is represented by: te bl S ST 24,11
(A)~ (B)~ (C)~ (D)~

12.In the beginning, the rate of reverse reaction is: :‘at'n_*(,/(u’{ld/u”/z/‘ﬂ&; 712
(A) Less (B) Moderate i (C) Very fast z «r (D) Slow =7

13.Reverse reaction is: :‘auu“{ld/u’;z/.ﬁ
(A) (B) (C) (D)

Lo e
< Uy =l éj,v.i.

Which gradually slow down | Which gradually speeds up

< Uy Cozz

14.What will be present in the equilibrium mixture? Nz(gy + 3Hz(g) = 2NH5(9y K. = 2.86mol 2dm® A4
K. = 2.86mol 2dm® Nag) + 3H2(g) = 2NH3q ?b’n;zryf,,bfu.‘:/;((l/d,ft

(A) Only NH3 NH3 < ~ (B) NH3 and Ho, N, (C) Hy and N, only (D) Only Hy Hy =3 #

NH3 st Hy« Ny Ho us1 No 3 #
15.Molar concentration is represented by: te bl b ‘/"/ J»A5
(A) {} (B)[] ©) () (D) Al
16.Guldberg and Waage put law of mass action in: i J,?L..fwl.f /,,tb'u”‘:ut.}fpu.w
(A) 1859 (B) 1869 (C) 1879 (D) 1889
17.Who presented law of mass action? oL &4/ u’flu’l.JTfM 7
(A) Dalton ¢ (B) Guldberg /.2 (C) Rutherford 3,5 .5, (D) Moselay L_s»
18.The units for molar concentration are: S g LR j/"/ /A8
(A) mol~tdm™? (B) mol~tdm?® (C) moldm? (D) moldm~—3

19.The specific rate constant of forward reaction is represented by:

:‘Lt’lg&-(/"u;l( 211 oSy Luﬁ‘gld/b/ﬁﬂ 9

(A) k¢ (B) ke (©) k (D) ky
20.K_ is equal to: :e414Kc.20
A) ke B) kr C) Kr (D) Ke
(A) : ( )kf () i S
21.The value of K in equilibrium state is: :‘ganz&;Jchﬂ:JbJ(J/dﬁ.ﬂ
(A) K (B) kr (C) K (D) A
Kf r r r

22.For reaction 2A + B = 3C: equilibrium constant can be represented as:

HES SN L L J6EIL L 28+ B = 306

22

(A) [2A1[B]
[3C]

(B) [AF [B]

[CT’

(c)_[3¢]
[2A] [B]

(D) _[CF
[AF [B]




23.The equilibrium constant expression for equation Hzg) + I2(g) = 2HIg 23

agf/(u#‘ff/d;l L Hagy + Iyq) = 2HI gy o lsl s

(A, _ [HIT’ (B) k, = [H21112] (C), _ [HIT (D), _ [HP[IT°
€T L] [HI]? © M 2] © " TIHIP
24.Which of the following equilibrium expression is correct for the following reaction? Na(g) + 3Hzig) = 2NHsg 24
Naig) + 3Hoig) = 2NHsg) Seernef A0 Jubis ud . £ PHiat st
(A) [2NHs] (B) [Na][2H] (C) [NHs[ (D) [N2] [He?
[Ne] [2H:] [2NH] [Ne] [Ho]? [NHs]?
25.Which of the following equilibrium expression is correct for the following reaction? Hzgy + I2¢g) = 2HI(g 25
Hag) + Iogg) = 2HI(g) Se_er s /5 l(/o’flu‘ ufiéu’(lu’zd:w
(A) g = [H2lLL] (B) . = [2M1] (C) [HIP? (D), _ [HIP[IT°
T 2HI T ML K= 1L Ke="1ap
26.The value of K, depends upon: :‘azljl(z}-;y( Kc.26
(A) Temperature , z 4 (B) Initial concentration (C) Both s (D) None of the above
LB G e ol
27.In a reaction, when the number of moles at both sides is equal then the unit of K will be: 27
{4 n&gKKc;n/,l/,)lﬂd/ﬂfJ )’u]».,.euf u:{ld/..{l
(A) No unit (B) mol*dm® (C) mold n?’ (D) mol*dm
28.In balanced equation Nag) + 3Haig) = 2N Hsg the units of equilibrium constant are: .28
(S 9 L 22 E S EIUE Nogg) +3Hag) = 2NHsg) clsbrit
(A) mol~2dm® (B) mol~ 'dm—3 (C) moldm3 (D) None
29.The Kc units for the following reaction will be: Hz(gy + I2(g) = 2HI(g) 29
Hagy + Inigy = 2HI g LUMJ';’LKciLJ’(ldJJ;Z//)
(A) moldm~3 (B) mol~*dm~3 (C) None (D) moldm?
30.For a reaction between PCl3 and Cl; to form PCls, the units of K are: .30
S 1E Kot 416 £t PClse ClysiPCly
(A) moldm> (B) mol~'dm? (C) mol'dm® (D) mold n?’
31.When the value of K is very small, it represents: :93/ /;lb’?yz(/ et fKow2.31
(A) (B) (C) (D)
Equilibrium will never All reactants will convert into | Reaction will go to The number of products is
establish products completion negligible
fnuﬁiflﬁ‘gfféjdfi ndiuﬁuﬁf;";/’ﬂlw(ﬁ b’ngnJ“cuﬁg!d/ gfﬁ[:f%/l,&fd/uv}’:@
Ll
32.Reaction will be in equilibrium if: :ﬁb’nuﬁ&bkfﬁf /d:fiu’{id;.BZ
(A) Qe = Ke (B) Qe = K¢ (C) Qe = Ke (D) Q=0
33.The large value of K indicates that the reaction will be: :b’xu’-ﬂd;/ 98/ L s uu Kc.33
(A) In equilibrium % &7 g4 |(B) Completed 15 J* (C) (D)
Proceed in the forward Proceed in the reverse
direction direction
ey NP Fepsbd &




34.If Qc < K¢ then reaction proceed:

ety 618 Qc < Ke /1,34

(A) Forward direction

SALLT

(B) Reverse direction

S S

(C) Equilibrium (# £ 7 51

(D) In both directions

35.Reaction will proceed from left to right if:

b U

S8 e SiP415,.35

(A) Qe = K¢ (B) Qe > Ke (C) Qe < K¢ (D) Q- =0
36.If Qc = K¢ then reaction will proceed: :(ngu’ﬁd/?n Oc = Ke /136
(A) Forward Z7 (B) Reverse &% (C) In equilibrium state (D) None of the above

Ve S S oA
37.In reaction N. O, = 2N O, the value of Kc will be: :‘Lz}.;JKCJu%dJ N O, = 2NO..37
(A)0.213 (B) 0.214 (C)0.211 (D) 0.212
38.In a reversible reaction if Q¢ = K¢ then we can conclude that: 1./ wé/m,g?’(??n Qc = Kcﬁw‘f{ldjdzz’ 951,38
(A) (B) (€) (D)
Reaction is occurring in Reaction is occurring in Equilibrium has been Reaction is not at equilibrium
forward direction reverse direction attained o U Dk
cbPELTHS [avestPdSE SN ot FeELud

39.For which reaction, ks is rate constant?

te st o kel LoEI5a 39

(A) Forward reaction

(B) Reverse reaction

(C) Upward reaction

(D) Downward reaction

uif IS 5046 ﬂ [ $sJads u’( I s 3 u’{ I $s 509 313

40.If Q. = K. then reaction will be: :(nu%dz}"n Qe > Ko /140
(A) Static equilibrium (B) Chemical equilibrium (C) In the forward direction  |(D) In the reverse direction
PRI PRI e § LT SHd S

41.When the value of K. is very large, it indicates:

‘48/ /zll;,:?nug):a‘(;:}dd/ Kge2.41

(A)
Reaction mixture almost
consists of all products

(B)
Reaction mixture almost
consists of all reactants

(€)
Reaction has not gone to
completion

(D)
Reaction mixture has
negligible products

46.\When bases react with acids, they form salt and:

P A Ao A gt lend A [Vl PG
< Uil gt Ut Ry

42.The conjugate acid of base H,0 is: :‘g,tg,uf 766 HyO %42
(A) (B) H, (©) Hy0* (D) o2

43.The meaning of Latin word “acidus” is: :‘a..,JWu’ylu.‘:up&f 1.43
(A) Sweet 1 (B) Tasteless =15 — (C) Salty o=* (D) Sour &4
4........ is not mineral acid: 7 1) ) — 44
(A) HCI (B) CHyCOOH (C) HyS0y4 (D) NaOH
45.Acids reacting with metal sulphides, liberate gas: 9 L @/L;u'{ 2/ J:d/ujguuﬂm.45
(A) Oxygen & 7 (B) Hydrogen ¢7»..44 (C) Hydrogen sulphide (D) Hydrogen oxide

KUl e BT Py

Ll I TSNP Lkl s 46



(A) Oxygen gas o7 =7 (B) Hydrogen gas o ¢4 |(C) Water (D) Carbon dioxide

29T 8
47.Which of the following is not an acid? ?‘guﬁi .,l)j’l/u/ Lt 4T
(A) AICI3 (B) BF3 (C) NH3 (D) 4
48.The natural source of citric acid is: :‘44153/}'&,:!./ A48
(A) Rancid butter o** s (B) Fats 4z (C) Lemon s (D) Sour milk 2255 15 L

49.Rancid butter has a foul smell because of:

e paSAS i T e (5149

(A) Butanoic £ty

(B) Nitric acid s S #¢

(C) Tartaric acid 421 k.t

(D) Sulphuric acid 1 s

50.According to Arhenius concept, base is a specie which:

et Lo F L %50

(A)
Gives H* ion in aqueous
solution

(B)
Gives OH~ ion in aqueous
solution

(C)
Which can donate a proton to
other specie

(D)
Which can accept a proton
form other specie

cHFTH RS IE B dToH wd+ P |F oo FE 6 |Sdfv e &z
< <

5. is a lewis base: L VU R v 51
(A) AlCI; (B) H* (C) BF3 (D) NH3
52.In strong acidic solution the color of litmus becomes: :g.l:‘tm..f/lﬂfy LSS 56.52
(A)Red - (B) Blue 1 (C) Yellow i (D) Colorless £, «—
53.Uric acid is found in: ‘e bl bdS0y.53
(A) Urine &2 (B) Fats < (C) Apple > (D) Grapes .#1
54.Which of the following is used for the preparation of soap? ?‘at’lg.lz'( Jb“"flu.’:dz,l?J oL St L 500,54
(A) Pb(NO3), (B) ZnCl, (C) NaOH (D) Fe(OH),
55.The taste of acid is: L b 515634155
(A) Bitter 152 (B) Sweet (C) Sour > (D) Salty =%
56.The taste of base is: 1 b, 3156 % .56
(A) Bitter 152 (B) Sweet (C) Sour /> (D) Salty =%
57.......... is not an acid: :‘Lu.?’ ) S 57
(A) HCI (B) NH3 (C) H,CO4 (D) HySO4
58.The acid which is the king of chemicals is: :‘apl."};w%‘fz..,l 703,58
(A) Sulphuric acid 4z 2= |(B) Nitric acid 4  #t (C) Hydrochloric acid (D) Acitic acid .t €2

il J%}/ﬁf&

59.Which base is more corrosive? ?‘g;r,ﬁ;pw!u{.SQ
(A) NH,OH (B) NaOH (C) Ca(OH), (D) An(OH)3

60.Arrhenius presented the concept of acid and base in: WU P 6 sl L% 60
(A) 1787 (B) 1788 (C) 1789 (D) 1790

61.The conjugate base of HCI acid is:

et 2L 7 WK LIHCI 61

(A)

(B) OH-

(C)cr

(D) NHi




62.The conjugate base of H;0* is:

(e bnut e JL6E H,0%.62

(A) H,0

(B) OH-

() Hy0*

63.The acid used in lead storage batteries as electrolyte is:

(D) Hy0°

L2 Ul 1220 SR S G 1 1) 63

(A) Sulphuric acid i1 s

(B) Uric acid 4z ¢

(C) Formic acid 4z (26

(D) Citric acid 4 >

64.Which acid is used for the preservation of food?

St Uit L L2 S5#  S13.64

(A) Sulphuric acid 2 s

(B) Nitric acid 4zt /¥t

(C) Hydrochloric acid

65.The base which is used in alkaline battery:

il ._fuguféf b

(D) Benzoic acid 4u Fs 4

e QoI 2 A 2 1,65

(A) NaOH

(B) Al(OH)3

(C) KOH

(D) Mg(OH),

66.If Kw = [H*] [OH ] = 1.0 x 10-"* at 250C. What is the concentration of 4+ in pure water at 25°C? .66
?ngﬁy’JH+u:&gwu Kw = [H*][OH ] =1.0 x 10" ,250C

(A)1 x 107" moldm™3

(B) 1 x 107" moldm™3

(C)1 x 10~ mold m~?

(D) 1 x 10" moldm™3

67.The first acid known to man

was:

WL UI;LM&LJ)%;.,/.67

(A) Benzoic acid 1o 5%

(B) Acetic acid 4z 2

(C) Sulphuric acid iz s+

(D) Nitric acid £ < %t

68.Lactic acid is found in: :‘Lb'lg&&i{lu?'gﬁs
(A) Sour milk 225 152 Lar (B) Apple - (C) Grapes _#1 (D) Lemon %
69.Bronsted-Lowry presented the concept of acids and bases in: ?wf &.,fz,uf J/.f MSANE 29109154969
(A) 1787 (B) 1823 (C) 1923 (D) 1943

70.The acid present in sour milk is:

re ALl 2l 22,70

(A) Lactic acid 4z —E¢

(B) Formic acid 4z (6

(C) Tartaric acid 1 Skt

(D) Uric acid st oy

71.Dilute acid reacts with carbonates to produce the given product except: 71

glyab’bhf;uﬁf wLI8.F V&J’ LK EE

(A) Salt ¢z (B) Water (i (C) Carbon dioxide (D) Hydrogen ¢7 .47,
2297 8 ik
72.Citric acid is found in: e bbb tdS T2
(A) Urine o 22 (B) Fat U= {2z (C) Lemon o us# (D) Sour milk (2 2355 &t &2

73.The binary compounds of oxygen such as carbon dioxide and sulphur dioxide were named as acids by: g3

1o AT s AT b 6 S s A L T

(A) Jabir bin Hayan (B) Lavisior i <15 (C) Al Jahiz 2 #yi (D) Hamphrydevy
U k4l < S

74.Word acid came from:

13 PLAL.TH

(A) Greek 59 (ty (B) Italian = &3 (C) Indian = 3 1 (D) Latin « 3 2y

75.Maliac acid is found in: (e bl LA G.T5
(A) Urine o= 2 (B) Fat U= 4z (C) Apple U= —» (D) Butter o# o=

76.Butyric acid is found in: e bl LIS 7.6
(A) Apple % Uz (B) Fats _* U~ (C) Grapes U Us i (D) Rancid butter _* o*°

77.Bases on reaction with ammonium salt release:

(S LS A AL o TT



(A) Nitrogen gas U¥ o2 2t

(B) Hydrogen gas ¥ <2544,

78.In strong basic solution the color of litmus turns into:

(C) Sulphur dioxide gas
oA G5 -

(D) Ammonia gas ¥ ¢+

1

e b EKS AP e Pb.T8

(A) Yellow 1

(B) Blue i

(C)Red( -

(D) Colorless £, +

79.Which chemical is used for removing grease from clothes?

St ULl L L L RS e s 19

83.Acid used for flavouring of food is:

(A) Ammonium nitrate (B) Aluminium hydroxide (C) Ammonium hydroxide (D) Aluminium chloride

o FL ST I, 2 JAITa sy (o sk 2

80.The formula of citric acid is: iUy 5640 .80
(A) C14H31600H (B) C15H3lcOOH (C) 615H31COOH (D) C17H35COOH

81.Which one of the following is lavoisier acid? et F1dl s 81
(A) CO;, (B) HySO,4 (C) Hel (D) NH5

82.Which base is used to neutralize acidity in the stomach? St Uil L Lo /P S b i 82
(A) Ca(OH), (B) NaOH (C) Mg(OH), (D) KOH

S bWt d Lot S0 3/ 583

(A) Benzoic acid 421 3%

(B) Acetic acid 4 &2

(C) Sulphuric acid iz s+

(D) Nitric acid 4o ¥t

84.Which compound is amphoteric? 9‘4./ S U 84

(A) H,0 (B) NH3 (C) Hel (D) CH3COOH

85.The pH of acid rain is: anHJJ’JLQl .85
&

(A) 4 (B) 5 (C)6.5 (D) 2

86.The pOH of 0.001M solution of KOH is: :prOHJJ#0.0MM&KOH .86

(A)3 (B) 11 (€)2 (D) 4

87.The sum of pH and pOH is always: :‘grn/,u,.ﬁﬁ;;f §pOH.sipH .87

(A) 1 (B)0 (C)7 (D) 14

88.Which is common indicator?

Stk iirl 355 .88

(A) Methyl orange &.s S 5

(B) Litmus paper & o~

(C) pH paper pH

(D) None of the above ' &/

89.The sum of pH and pOH at 25°C is always: et 2604 ¥pOH.1pH259C -89
(A) 4 (B) 8 (€) 10 (D) 14
90.The pH of neutral solution is: :‘LG}‘IPHJ SrJ2e 90
(A)6 (B) 7 (C)8 (D) 12

91.The pH value of a neutral solution is always:

e Q2SS b k610,91

(A) Greater than seven

(B) Less than seven

(C) Equal to seven

(D) Zero 4~

wl e ol {c <l Yy
92.Values of pH and pOH are: :wémfg J pOH_sipH .92
(A) 0to 10 010¢ (B) 0to 14 014¢ (C)1t013113¢ (D) 1to 16 116t

93.When alkalies react with ammonium salts which gas is liberated? ?‘48;4@;(;«;{ ‘f /?wé/ .:ffld/‘;udvrirlﬁl.,.e.%



(A) O,

(B) CO,

(C)H,

(D) NH3

94.Which of the following is an

example of complex salt?

v Jod el ol A it.94

(A) Zinc sulphate i £

(B) Potash alum /4 fty

95.Potassium ferrocyanids K4 [Fe (CNs)] is:

(C) Potassium ferrocyanids
Mgy

(D) Sodium phosphate
L6

1 Ka[Fe (CNs)Lizbfly d(% £4.95

(A) Normal salt 2/t .t (B) Mixed salt /- 24 (C) Complex salt 2/ ~£5°  |(D) Double salt /- k3
96.Ca (OCI) Cl is an example of: ;e J& Ca(OCl) C.96
(A) Complex salt =/ <5 |(B) Double salt o/t k5 (C) Normal salt 2/ ¢ (D) Mixed salt <)t 24

97.Which of the following is acidic salt?

Ce S b gf e S 9T

(A) KHsO*

(B) AI(OH),CI

(C) NaCl

(D) Ca(OCI)Cl

98.Salt formed with the reaction of HCl and KOH is:

e batse (a2 i /KOH.HCI .98

100.Which of the following is used as fertilizer?

(A) Acidic (B) Basic G (C) Neutral J5 (D) Complex 4%
99.Which of the following is not present in mixed salts? N u.’:‘f”vjfvd/ = iS50..99
(A) Ka [Fe(CNg)] (B) Ca (oci)cl (C) (D) NHaN O3

K,S04.Al,(S04)5.24H,0

St U7 S e 50100

(A) Gypsum =% (B) Potassium nitrate (C) Sodium carbonate (D) Both aand b

AT wd K iy Udns o sl
101.Bleaching powder is an example of: :‘adl‘,‘ujfg..é‘;ﬁﬂm
(A) Mixed salt § - 24 (B) Acidic salt § /- ~4z  |(C) Double salt & I #5  |(D) None 7 (¢
102.KCl is an example of: 1 J&- KCI.102
(A) Double salt § /- #5 [(B) Normal salt § </t St |(C) Mixed salt § </ 24 (D) Complex salt 2/ -5
103.Which of the following is double salt? ?+¢JVJ$Uﬂ103
(A) NaCl (B) CaO (C) AICI3 (D) K2S0s-Ak(S04);5.24H, 0
104.Who prepared the first organic compound urea? ?yﬁgé.ﬂggi‘fgf ._ﬁﬁfuzg.104
(A) Wohler s (B) Arrhenius & U=+.7 (C) Dalton 1 (D) Jabir bin Hayan > ¢ 4

105.The branch of chemistry which deals with hydrocarbons and their derivatives is called:
‘a(}uﬁ( 98// AW(J}‘:’.{/.}LUU;I Y11 l,zébﬁud/ $ /ﬁ”{

105

(A) Inorganic chemistry

d,"/:i/.ﬁﬁTul

(B) Organic chemistry
§ L T

(C) Physical chemistry

G K

(D) Analytical chemistry

$ A Sy

106.The bond energy of C - C bond is:

(e § 21, %,C-C 106

(A) 255kJmol!

(B) 355 kJmol!

(C) 455 kJmol!

(D) 555 kJmol!

107.Carbon is: :‘aanu:;m 07
(A) A metal =los (B) A non-metal =t»» # £ |(C) Metalloid i =L> (D) Compound "~
108.The example of heterocyclic compound is: :+J@Jksg & #7108
(A) Benzene o~ (B) Hexane o2& (C) Cyclohexane o725+ |(D) Pyridine /5 § £t

109.The chemical formula of urea is:

ey 649100



(A) NH4CNO (B) NH4CN (C) NH,CONH, (D) NH,CI

110.Percentage of methane present in natural gas is: :grm}? 4u:;~“~ »ééfl(uf 3/,3.110
(A) 75% (B) 80% (C) 85% (D) 90%

111.The amount of carbon in peat is: :‘aamlﬁqfu:/(uf%Jﬂ
(A) 60% (B) 70% (C) 85% (D) 90%

112.The percentage amount of carbon in wood is: :‘aqﬁ'ﬂéK@wadﬂ.HZ
(A) 40% (B) 52% (C) 60% (D) 70%

113.The amount of carbon in lignite is: :911,"‘#‘5/@:/&).’:.‘;&7.113
(A) 60% (B) 70% (C) 85% (D) 90%

114.The formula of ethane is: :‘gu,»,sru:”"mm
(A) CHy (B) CoHg (C) CoHy4 (D) C4H4

115.The molecular formula of butane is: :‘au;ols)r,?wufg.ﬂS
(A) C4Hg (B) C4H1o (C) C4H1z (D) CeHe

116.General formula of alkanes is: :;.Ur/GJ;ZK;’r.”;.HG
(A) CoHzp (B) CoHzpi (C) CoHop 2 (D) CrHoniz

117.The formula of decane is: :‘aﬂr/Gch,,'gﬁﬂﬁ
(A) C1oHzo (B) C1oHz2 (C) C1oHg (D) C1oH1g

118.The reduction of alkyl halid

es takes place in the presence of:

¢ dut oz S P IS ke J1.118

(A) Zn /HCI (B) Na/HCI (C) Mg / HCI (D) Cu/Hcl
119.The hydrogen atoms in pentane are: :u,:lz.n)“:lu?ufo’l,gﬂw’?HQ
(A) 10 (B) 12 (C) 14 (D) 16
120.The other name of alkanes is: :‘G(L’I/»sz‘(i.ﬂo
(A) Halogens 72 4 (B) Olefins # st (C) Paraffins 1 = (D) Ethylene o2
121.0rganic compounds containing —OH group are called: ¥ !uéﬁf!—'}é/b,d/ —oH.121
(A) Alcohols 40 (B) Aldehydes &1, $.4k (C) Catones 5/ (D) Carboxylic acids

Sk AT
122.Which of the following compounds is aldehyde? «:‘dwf.wa .;u:ﬂcfgf S50s42122
(A) OH - CH; — CH; (B) COOH — CH; (C) CH;CHO (D) CH;COCH;
123.General formula of saturated hydrocarbons is: re Uy b 267K S 123
(A) ChHzn 2 (B) ChHznso (C) ChHon (D) ChH\,
124.Which of the following is saturated hydrocarbon? \CROI 1Y vy /L/uf =124
(A) Methane o™ (B) Propane ¢#s (C) Ethyne o/l (D) Propyne uj/g;/?
125.Percentage of methane present in natural gas is: ?‘gt'm}’ﬁ' 4@,‘” ,uéﬁ{u'{ d.45.125
(A) 75% (B) 80% (C) 85% (D) 90%
126.The formula of pentane is: :;.UWGKM?;MZG
(A) CsHyy (B) CsHyg (C) CsHg (D) CsHyy




127.The number of hydrogen a

toms in pentane is:

(AP 2T

(A) 10 (B) 12 (C) 14 (D) 16
128.The chemical formula of chloroform is: :;.uwséy{ K(;G;/;MZS
(A) CH4CI (B) CH,Cl, (C) CCly (D) CHCl,
129.The other name of alkanes is: g /»K'/'.:‘ri.129
(A) Halogens 2 & (B) Parafinns 1z (C) Olefins # s (D) Acetylenes =
130.Which of the following is called paraffins? A sl e L4130
(A) Alkanes =5 (B) Alkenes = (C) Alkynes # ¢ (D) Alkyls * g
131.The main source of alkanes is: :‘cu’mﬂlvﬁft.131
(A) (B) Air and water gas (C) Coal gas and water gas  |(D) None of the above (% {/
Petroleum and natural gas | " iy st 15 I e oL S

oA 85 (3, ¥
132.Marsh gas consists of: :98,«}’}’ u'{ JA132
(A) Methane o™ (B) Ethane 7 (C) Propane ¢/, (D) Butane o7
133.Formula of ethane is: :g.u;ob‘l(u;‘g"i.133
(A) CH,4 (B) CoHy (C) CoHg (D) C4H4
134.Which reactions are the characteristics properties of alkenes? ?ww#ﬂ‘! ;’éﬁ;ﬁfld;éﬂ%
(A) Substitution reaction (B) Oxidation reaction (C) Reduction reaction (D) Addition reaction

CalUIts 1t S G P Std” S
135.Alkenes are also called: :wéwf . 1135
(A) Paraffins 1,z (B) Olefins 7 s (C) Acetylenes <> (D) Aeromatic compounds

JHAL sy

136.General formula of alkenes is: iUy i) ;2()?.‘(1.136
(A) CoHzp o (B) CoHzp, (C) CoHopiz (D) CoHop
137.Alkenes are known by the name: ?‘Lt'(gugértu‘/ I5 '/':g.137
(A) Methane 2~ (B) Paraffins 71,z (C) Olefins # s (D) Acetylenes =™
138.Benzene is formed by the polymerization of: ?g.@lyélavjﬂéﬁy’l/:’ggf/ L5138
(A) Methane "™ (B) Acetylene ¢+~ (C) Ethene 2= (D) Butene o7

139.The final product of the oxi

dation of acetylene is:

e T S ATHR LTS e 1130

(A) Oxalic acid 1 017

(B) Glycol J# {1

(C) Glyoxal J77 §if

(D) None of the above %+

140.The catalyst used in the halogenations of ethene is:

:‘atmdmwtaﬁ#utﬁurw u:’:"‘t.140

(A) Cu (B) Mg (C) Ni (D) Ag

141.Ripening of bananas produces gas: st Srb s oml S LELAM
(A) Methane o+ o7~ (B) Ethane o o™ (C) Ethene o+ 2™ (D) Nitrogen U (25 £t
142.The general formula of alkynes is: iUy i) 26 61.142
(A) Cnfi2n (B) Cnflzn+1 (C) Cnfan+2 (D) €nf2n-2

143.Dehalogenation of tetra halides is carried in the presence of:

te Gt rzr§ U T kG e 2143



(A) K (B) Mg (C) Na (D) Zinc dust

144.Alkynes are called: (e bl Y7 1144

(A) Olefins 7 s (B) Ethene 7™ (C) Paraffins 71+ (D) Acetylene o2t

145.Which one of following hydrocarbon gas reacts with acidic solution of KMnQO4 to neutralize its pink colour? 145

e (o /P A ENSL P b S Lol Lty sus
(A) CH,4 (B) CoHy (C) CoHg (D) C3Hg
146.Dehydrohalogenation of vicinal dihalides takes place in the presence of: 146
tedntszrd T S ke S

(A) Aqueous NaOH (B) Alcoholic KOH (C) Aqueous KOH £ KOH  |(D) Alcoholic NaOH

o+ NaOH 4% KOH i NaOH

147.Ethyne is oxidized by KMnOg and ......... hydroxyl groups add to triple bond: A47
ALt PRSI T AL o b P13IT 20 £ KMINO S i

(A) Two » (B) Three . (C) Four . (D) Five &L

148.The percentage quantity of acetylene in coal gas is: :‘48:1/!,&7»430/ M.‘?“”uﬁu! Js 148

(A) 0.06% (B) 0.7% (C) 0.08% (D) 0.09%

149, & e Th g SATEP AT k1149

(A) Oxalic acid 4z 17 (B) Glycol J+" {16 (C) Glyoxal J77 §i¢ (D) None of the above & &

150.The molecular formula of acetylene is: :€_u,os),?wwk‘“~1.150

(A) CoHg (B) CoHy (C) CoHy (D) CoHs

151.General formula of carbohydrates is: :+Ur;b‘d ﬂKu":/i’l,zA(.151

(A) Co-1(H20), (B) Cn(H20),_4 (C) Ca(H20),, (D) Ca(HO),,

152.Which simple sugar cannot be hydrolyzed? ?Cflg,l/ el 5?’11,/,9’!,&9/ Pol§ys 152

(A) Glucose 5+ (B) Sucrose s~ (C) Starch g (D) Cellulose 4

153.Lactose is a type of sugar, it consists of sugarand .......... = # A /;l):(}gﬁg.(ﬁ ..QJ/ ¥40.153

(A) Sucrose 1.4 (B) Maltose s\ (C) Starch z.& (D) Galactose £+

154.In which art of digestive system glucose is absorbed? ?‘gt'n.,,tgu‘.'e‘f L(“" }:’5; 554¥.154

(A) Stomach s (B) Liver & (C) Small intestine =<7 3¢ |(D) Large intestine =7 2

155.Which of the following is pentahydroxy aldehyde? S XS4 Tuﬁ»’wi;p/ =S 5ts155

(A) Starch gt (B) Glucose 14 # (C) Fructose 5/} (D) Sucrose .4

156.Which of the following is tri saccharide? ?‘Lg’;d"/‘u{ S 5.156

(A) Carbohydrates U426 |(B) Proteins /<'s (C) Lipids 2/ (D) Vitamins ¢/t

157.Which of the following is pure cellulose? v‘gﬁk‘f’uvgw,ﬂw

(A) Maize & (B) Rice Uske (C) Bread (i (D) Wheat ¢ 4f

158.Which of the following is crystalline solid? Ce PSS e 5000158

(A) Glucose ;5 # (B) Starch .t (C) Cellulose s/ (D) Glycogen ¢+ (i

159.Mono saccharides consists of ......... carbon atoms: Suz’Lnd? /,}‘éiluix(gjfl/cj)’.159



(A) Two to four 4 < s

(B) Four to eight 27 = .t

(C) Three to nine 5 =

(D) Five to ten o> = &L

160.Which of the following does not contain starch?

S 20 Bl S e 50040160

(A) Sugarcane & (B) Maize §* (C) Barley » (D) Potatoes #7
161.Pentahydroxy ketone is called: :‘at‘llzv( U Tosdf\ i, 161
(A) Glucose 7## (B) Starch . (C) Sucrose s~ (D) Fructose s+
162.Chemical formula of fructose is: :‘auwtsét,{ €5975.162
(A) C12H22011 (B) CeH1205 (C) CaHip (D) CsHia

163.Which protects us from muscle cramping? St S byl e LA SEH ¢ a163
(A) Proteins 7<'s (B) Lipids (C) Vitamins =t (D) Carbohydrates (.44

164.Amino acids are linked to each other through:

BB L L5457 1.164

(A) Hydrogen link —& 1.4

(B) lonic link & £¥7

(C) Gelatin link —& o+

(D) Peptide link —62

165.Which of the following does not contain protein?

?anuj )ﬁfu£;4ufj( c‘ﬂg}j.?u?.165

(A) Pulses (% Usis (B) Potatoes U UssT (C) Beans u* s (D) Eggs U 1

166.Gelatin protein is present in: :98@(;&&,4%.166
(A) Blood _* w# (B) Skin % 4 (C) Heart * Us (D) Bones * U4
167.Polymers of amino acids are: (121 Lk AT
(A) Carbohydrates #4146 |(B) Proteins /s, (C) Vitamins =t (D) Lipids s/

168.Proteins are ......... by weight of cell: le b ntbie g LA Kunl 168
(A) 40% (B) 35% (C) 65% (D) 50%

169.The body reactions are catalyzed by: 2SIy ;ﬁfldjdé‘fLuLnut()' 169
(A) Amino acids stz U (B) Lipids (C) Enzymes #12 (D) Fatty acids st
170.The chemical formula of citric acid is: :‘umsdé{ KraS +A70
(A) Ci7H;5COOH (B) Ci7H;3COOH (C) Ci7H;;COOH (D) CisH; COOH

171.Building blocks of lipids are:

W BB L 35T

(A) Nucleic acids iz ¥y

(B) Amino acids 4 sU

(C) Fatty acids st &

(D) Mono saccharides

Jj“/!f iy
172.The formula of palmitic acid is: :g.Ur;GKMJ;)gJTZ
(A) Ci5H;1 COOH (B) Ci7H;5COOH (C) Ci5H;,COOH (D) Ci7H;sCOOH

173.Catalyst used in the hydrogenation of vegetable oil is:

et U TS ST AT

(A) Al (B) Cu (C) Ni (D) Pb
174.Which scientist discovered the structure of DNA? e sd g, { ;KDNC(.174
¢
(A) Hopkins 5+ (B) John Dalton o) b (C) Watson and Crick (D) Robert Hook o = 1,
I et
175.The nitrogen present in urea is used by plants to synthesize: 2 Jla-‘a’*lutd/ytfu/ P F gy Jelsgesy AT5
(A) Sugar (B) Proteins 7, (C) Fats (D) DNA DNA
176.Vitamins B complex contains: :wz_yzd'lﬁwu—%{ By t:.176



(A) 10 vitamins 10 ¢

(B) 8 vitamins 8 ¢

(C) 6 vitamins 6 =t

(D) 12 vitamins 12 ¢

177.Deficiency of vitamin D causes:

‘e (e J§D by ATT

(A) Rickets sz § &£+ (B) Scurvy $.~ (C) Anemia </ (D) Night blindness

Ut oAt
178.Who proposed the name of vitamin? ?.l[zj.’ é.u'/ (L6 8178
(A) Funk & (B) Watson ois (C) F Crick S/~ (D) Lewis o+
179.Rickets disease is caused by the deficiency of vitamin: ?‘4(3}’14-.33‘_( Ju" lt;u/ d/k;.gfér.179
(A)D ¢ esD (B) A eA (C)EyeE (D)CvesC
180.Who invented vitamin By (Thiamin)? s eslnd o f(c05) Byt 180
(A) Hopkins 54 (B) Funk ¢ (C) J Watson 15 2— (D) Davy ¢y
181.......... is caused by the deficiency of vitamin A: :‘agn;g,Jd/d/AJh 181
(A) Night blindness (B) Sore eyes ¥ § u» T |(C) Rickets $.i § £+ (D) Both a and b
JE ol U o sl
182.Fat soluble vitamin is: :+cf9;‘)fgf¢j.182
(A) AA (B)EE (C)KK (D) All otz
183.Hopkins noticed for the first time: :1,64&.-%&’4.75,.183
(A) Carbohydrates %146 |(B) Proteins /s (C) Lipids 2/ (D) Vitamins ¢
184.How many percentage of sunlight is absorbed by atmospheric gases? ?w(}r‘.’/ iy )':(J T :%:t,,v»éimj St 184
(A) 12% (B) 18% (C) 24% (D) 3%
185.The two major components of atmosphere are: :wmuﬂmz: /-:” #1.185
(A) Hydrogen and oxygen (B) Nitrogen and hydrogen  |(C) Nitrogen and oxygen (D) Oxygen and water
Tl P Fasddy ol Fs Tl P Fl 8 T

186.Nitrogen and oxygen are ..

% of atmosphere:

St e 18 506 17 1 Tl P2 6.186

(A) 80% (B) 90% (C) 99% (D) 75%
187.The volume of CO5 in dry by ratio is: :;.b'n..,wau.’:mué%ym JB@/KZ 54,187
(A) 0.03% (B) 0.93% (C) 20.94% (D) 78.09%

188.0n which bases atmosphere is divided into four regions?

?‘a.l;(&ff:ﬁ ‘ﬂ%ulg4)gt(j( I /".f"" 1,188

(A) Change in pressure

(B) Change in radiations

(C) Change in temperature

(D) Change in weather

da Ut s G ot A S Jo ot gd do vty
189.Height of stratosphere from earth’s surface is: :‘44&,4:44,@:)5’ ,’-f’ % /189
(A) 30 km (B) 40 km (C) 50 km (D) 60 km
190.Thermosphere layer is at height above earth’s surface is: :‘ad/.i:_i/(futigf ;-.4 /’f‘” » #190
(A) 0-12 km (B) 12-50 km (C) 50-85 km (D) 85-120 km
191.The major constituents of troposphere are nitrogen and: U S P FezISor A #2191
(A) Hydrogen ¢?s.x\ (B) Carbon dioxide (C) Oxygen o= 7 (D) Sulphur

29T 85 ik

192.At the height 85-120 km from earth’s surface is:

St 2ol B K120 8520 St 192



(A) Troposphere 4~ 5,/ (B) Mesosphere ~s 2 (C) Stratosphere ~* % +

(D) Thermosphere ~*» 5

193.The layer of atmosphere which is next to troposphere and extends up to 50 km is called:

193

‘48112( fﬁﬂjﬁf :K 50/,;l¢, f::" {f;/‘

(A) Mesosphere = »+ (B) Hydrosphere ~s.x| (C) Thermosphere ~*“» #  |(D) Stratosphere <> # ~

194.Waste material that pollutes air, water and soil is termed as: :g.l:/uﬁ/ g ;;lég‘mzul.u%..g.194

(A) Pollution ¢/ & (B) Pollutant w245k (C) Solvent wx s (D) Solution 7+

195.A primary pollutant is: it S A1, L1195

(A) CHy (B) HNO; (C) HyCO;3 (D) HySO4

196.Carbon monoxide is harmful to us because: £l ‘auulﬁ?“&z_mzim I /6196

(A) Paralysis lungs (B) Damages lungs tissue  {(C) (D)

e & Lok U g4 » e G S S 0F Lot Reduces oxygen carrying Makes the blood coagulate
ability of hemoglobin e Qe Py L s,
Sibvl FTd uker
e G S e

197.Every year there isarise of ......... °C in atmospheric temperature due to carbon dioxide in air: 197

e S AL S HIC L I pe on§E o AT dB b

(A) 2°C (B) 0.05°C (C) 0.02°C (D) 0.01°C

198.A secondary pollutant is: i LAY e, 198

(A) SO, (B) CO, (C) CHy (D) HCI

199.The pH of normal rain water is: :‘LaanJ&géJ’/w/b 199

(A) 5.5-6 (B) 5.4-6 (C)6-6.5 (D) 5.6-6

200.The pH of acid rain is: ie_dspHy 4 200

(A) 4 (B) 5 (C)6-6.5 (D)7

201.Which one of the metal clogs gills of the fish? ?4.&;/Af%£uz“f ,w.,,g;Jw,J.zm

(A) Iron @s7 (B) Copper ¥ (C) Aluminium =" (D) Lead 4/

202.Cause of global warming is: :‘Lg,d/.ﬁmdif.ZOZ

(A) CO, Gas COp U7 (B) SO, Gas SO, 7 (C) NO, Gas NO, 7 (D) 0, Gas 0y ¥

203.In which region ozone formed? ?4.3"‘;&;‘/ 2,203

(A) Troposphere o ~* y»/ |(B) Stratosphere U >~ % ~ |(C) Mesosphere # >~ »+  |(D) Thermosphere

VA

204.Sea surface is protected from ultraviolet radiations in global warming by:

204

S §° 18 e PGk K A E e e B ¥

(A) CO, Gas COp U7 (B) SO, Gas SO, U7 (C) NO, GasNO, 7 (D) O3 Gas O3 7
205.The formula of ozone is: 1y /66()231.205
(A) 0, (B) 05 (€) o (D) co

206.\Which one of the reasons of global warming?

?‘4,.330’ (‘J’( c'_.‘ﬂd'“},?/ﬂd/ u@/l}d‘)”.ZOG



(A)

Absorption of infrared
radiation emitted by the earth
s v Bl = 5 Ju:/ IR
by o K/?oi Shs

(B)
Absorption of infrared
radiations coming from the

B 7 et IRE A G

by b

(€)
Absorption of ultraviolet
radiations coming from the

B T et UV K2 S

b o

(D)

Emission of ultraviolet
radiations by the earth

= 0§ UVE A Gh
by Bl

207.Which gas is called greenhouse gas?

s d Auneg /A s 207

(A) CO, (B) cO (CIN, (D) HCI

208.The oceans contain about of total world’s water: ?q.df“'” 4G£d/wyyé£mg‘f£g;.208
(A) 91% (B) 93% (C) 95% (D) 97%

209.The boiling point of water is: e 1y 196031.209
(A) 00c (B) 250¢ (C) 80 (D) 100%

210.Density of water is maximum at .........: ?‘43}1,;314,?»6“&;‘!&&%/&210
(A) 00c (B) 20c (C) 49¢ (D) 6%

211.The density of water at 4°C is: :4‘-8;16“"'156/8&440C 211
(A) 1 gcm™ (B) 2 gcm™® (€) 3 gem™® (D) 4 gcm™

212.The freezing point of water at sea level is: :q.e'ndlgjzjmgé’ J;M.212
(A) 00c (B) 19¢ (C) 20¢ (D) 30¢

213.How much percentage of water is drinkable out of all the water present on Earth?
"‘ag}ﬁ'ééj’;.ﬁuﬂé ng K&g;zrwtj

213

(A) 0.001%

(B) 2.1%

(C) 0.2%

(D) 90%

214.Which of the following ion is not a cause of water hardness?

?‘QC’:J.‘; .?}d/ Jsﬁz

ATV e o T 5,002,214

(A) ca2* (B) mg2* (C) SO~ (D) Na*
215.The removal of Mg*2? and Cca*2 ions which are responsible for the hardness of water is called: 215
(e LU TP T Cat2 il M2 nd 5N
(A) Permanent hardness (B) Temporary hardness (C) Water softening —£%»- 4» | (D) Hydrogen bonding
U 2y ik S P
216.Which of the following method is used for removing temporary water hardness is? 216

S b 3 s LS S AN A S

(C) Sodium zeolite <<y 3+

(D) Filtration method

(A) Clark's method (B) Washing soda method
S8 365 B
217.The chemical used in Clark’s method is:

e S Wl B S LS E21T

(A) Ca(HCOs),

(B) Ca-Zeolite

218.The types of water hardness are:

(C) Zeolite Na,

(D) Ca(OH),

IS4G L218

(A) Two » (B) Three o (C) Four & (D) Five &\
219.Permanent hardness is because of: ?4.8;14-..3,‘/ &5;&:4!.4.219
(A) Ca(HCOs), (B) Mg(HCOs), (C) NaCi (D) Cacl,

220.Temporary hardness of water is removed by adding:

e bl n L SIS S epes A L3220



(A) NaOH (B) KOH

(C) Ca(OH), (D) €aSO,

221.Temporary hardness of water can be removed by adding:

e FoSF & S S AL S B2

(A) Lime stone w5 #u (B) Slaked lime #v 4~

(C) Quick lime #u & (D) Washing soda t5s- s

222.\Which of the following is an agricultural influent?

¢ woe A Ao e 50,222

(A) Heavy metals :** $.u# (B) Mineral acids stz J ~

(C) Detergents o~ x5 (D) Fertilizers 1,513

223.In water,

ions are responsible for the quick growth of algae:

e 32 23 S5 238 T e 31223

(A) NO;, PO (B) Br. Cl"

(c)cl,sio5 (D) SO;,CO3"

Ut S 2™ QLKA 224

224.The rain water is slightly acidic it is because: Los

(A) SO5 (B) CO, (C) SO, (D) NO,

225.Vibrios cholera bacteria causes the disease: ?‘gt&z’dkgduﬂ /;-Ql/&/ﬁ’ 15,225
(A) Cholera 1./ (B) Dysentery & Jis (C) Typhoid 6 d¢ (D) Hepatitis o~ L

226.The cause of cholera is: ‘e 21016226
(A) Protozoa 1sss., (B) Virus U #1s (C) Bacteria |, 2% (D) Fungi J¢

227.Swimming pools are cleaned by a process called: e bl Sloe U~ ,4‘// Sy E7y.227
(A) Bromination ¢~<~s.. (B) Hydrogenation ~=~.%, |(C) Nitration o* #t (D) Chlorination ¢/ .+
228.The industrial effluents, when taken by men, are responsible for disease: 228

L Sl TS dlﬁﬂuwég BN

(A) Cancer & (B) Asthma . (C) Pleague wsu (D) Cholera =
229.Cholera is caused by: :+,»J,:g,4.229
(A) Virus 715 (B) Bacteria |\ 2% (C) Fungi ¢ (D) Protozoa 1s5s.
230.Chalco-pyrite is an ore of: ?‘aj,fd/‘f < jgflg.230
(A) Copper ¢ (B) Silver .+ (C) Iron w7 (D) Aluminium ="
231.The chemical formula of chalco-pyrite is: :‘aﬂr‘/b'&lgf ke ,55)@.231
(A) CusS (B) CuFe,S (C) Cus (D) FeS
232.The underground and other impurities present in minerals are called: O 1S ol Seisny S 232
(A) Metallurgy &4 (B) Ores J.sf (C) Gang &/ (D) Compounds 3.
233.......... is called the king of chemicals: :‘Lﬁ‘f.é‘f.f(. ......... 233
(A) HCI (B) HNO3 (C) H,S04 (D) H3PO,
234.The brown colour of the hairs is due to the presence of ......... compounds: 234
LS5 SN S8V S P

(A) Titanium ~~¢ (B) Copper ¢ (C) Molybdenum (=4, (D) Mercury §./
235.Ammonia is prepared by the process called: S bl e Uv ;4/@3»!.235
(A) Solvay’s process (B) Hibr’s process o="s, = |(C) Floatation process (D) Hyber’s process

Uy o Gy SR Uy 02
236.The quantity of nitrogen in urea is: e Gt P FoUtL 9,236
(A) 76.6% (B) 66.6% (C) 56.6% (D) 46.6%

237.The preparation of urea consists of stages:

i G 4SS 812, 23T



(A) Two » (B) Three o (C) Four 4 (D) Five &L
238.In Haber’s process, the catalyst used is: et deie ot S L 4.238
(A) Nickel # (B) Platinum /1 (C) Cadmium = 4 (D) Sodium (35

239.The number of units in Pakistan for the preparation of urea are:

g L8 Sy o239

(A) Four (B) Five &t (C) Six (D) Ten v
240.The gas prepared by haber process is: :+J! dl;é.m?quJf 2444.240
(A) CO, (B) SO, (C) HI (D) NH;

241.Petroleum fraction having molecular composition C4 - Cy4 is called:

1 Q0 Cp -G LA P 28

(A) Petroleum gas U7 (%5 4

(B) Petroleum ether i (2 4

242 .Petroleum fraction having molecular composition Cs — C5 is called:

(C) Gasoline or petrol

st

(D) Kerosene oil f7 o5 &

e QU Cs — CoPid ISR P 5282

(A) Petroleum gas ¥ %5 |(B) Petroleum ether 4 £,z |(C) Gasoline or petrol (D) Kerosene oil ST o275 &
Jo gk o
243.How many carbons atoms are there in gasoline? ?wa".n)f‘:w/(fu.‘:dm@%
(A) Five to seven =L- = &4 [(B) Seventoten s = =t |(C) Thirteen to fifteen (D) Fifteen to eighteen
Y -y MBI e 2k
244.The molecular composition of kerosene oil is: :‘gg’i);{};;?uﬂf‘(@.“ s [244
(A)Cs — & (B) &7 — Cio (C) Cio — Ciz (D) Gz — Cis
245.The carbon composition of diesel oil is: :‘au?j;{w/KJ ST1Uz3.245
(A) €7 — Cro (B) €10 — Ci2 (C) €13 —Cis (D) €15 — Cis

246.Petroleum fraction whose composition is C5 and C7 is called:

1 O Conl Coefind S % 38 45246

(A) Petroleum gas u¥ %5 %

(B) Petroleum ether i (s 4

(C) Gasoline or petrol

sl ot

(D) Kerosene oil ST o2 &

247.Which fraction of petroleum is used as fuel in ships and industries?
?g_b‘%dla:’!J):?/)”:"ﬂu‘f/‘f,‘vm!uﬂ%dﬁuﬁg/’d(jﬁfﬁ)ﬁ

247

(A) Petroleum gas ¥ (%5 4

(B) Petrol Js %

(C) Diesel oil J7 Jz

(D) Fuel oil J7 Js

248.Which of the following fraction is used as laboratory solvent?

S (eI Liadr S LM 5 o e U 500,248

(A) Kerosene oil ST o &

(B) Diesel oil ST Jz

(C) Petroleum ether &1 £, 4

(D) Fuel oil J7 Js

249.The molecular composition of gasoline is:

e Fnd )RSt 249

(A)Cs — G (B) & — Cio (C) Cio — Ciz (D) Cis — Cis
250.The molecular composition of fuel oil is: :‘aﬁj;{/);;?LJJ’TJ,E.ZSO
(A) €7 — Cro (B) €10 — C12 (C) €13 —Cis (D) €15 — C1s

251.The boiling range of gasoline or petrol is:

:‘aé'/..ﬂ’l:,’ d/ U };L&rff//.251

(A) 8010170°C

(B) 170t0250°C

(C) 250t0350°C

(D) 350t0400°C

252.The boiling range of petroleum ether is:

(e GBS Ak 45,252

(A) 170 - 250°C

(B) 30— 80°C

(C)zo —170°C

(D)SO —170°C
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1.What are irreversible reactions? Give a few characteristics
of them?

&myum.n)mﬁuu.gﬂp.‘ﬂ

Q1.  Write short answers of the following questions.

Iy oy L:«UVJ“}.?/#

_u/uu_zlut!( /uiui“ ..

2.Define chemical equilibrium state. 2
3.Give the characteristics of reversible reaction. » /ulm-«twr"tff;ld/d’“m- 3
4.How is dynamic equilibrium established? . f Lmr’b" J( JSEIEs. 4
5.Why at equilibrium state reaction does not stop? %Ou”u/ufvd w- _,M;( sk 5
6.What is relationship between active mass and rate of U Lu"’tfu‘.u ,»Lu’rldwubf 6

reaction?

7.Why $${H” + }$$ ions act as Lewis acid?

°Ln-/r(4ub£yu)ufm H* 71

8.Name two acids used in the pH of pure water.

u‘“ﬂ/ rLZ:;M!»éJ;LMJWIde/L«JJUIP/ .8

9.Define pH What is the pH of pure water?

o "LWPH J&w’lo-u/w/t!pH 9

10.Naz2S0Qs is a neutral salt while NaHSOg4 is an acid salt,
justify?

e ™ —U,: /

11.Why a salt is neutral, explain with an example?

_..-::f:::: """""" -u’ S wb;adl/oab'nuf/ JJIJV A1

12.How can you justify that Pb(OH)N 03 is a basic salt?

13.Which salt is used to prepare plaster of Paris?

"c..u‘tzJ”..fl Pb(OH)NO; fu?é)/_)l.ud/ul A2

D et UL Lt p T . A3

14.What is meant by the term catenation? Give an example
of a compound that displays catenation.

y Jeds ‘r‘:f’oijd_//WKu"uJ/vq_),/w‘;vu»UJ’H 14

- )04

-q&}'uijt‘,‘m?wg)xig_.@mn. A5

16.What are heterocyclic compounds? Give two exarr]ples;..,.'.."

_q/4}u:’t’>»?u3§[;:c§gf..@;wﬂ. .16

17 .How is coal formed?

te bl XS AT

18.Write classification of coal.

SIS WS xS 8

19.How are alkyl radicals formed? Explain with examptes

-g}j/&?&;/(t_.)d@?wié/%%/gf/ﬁl. A9

20.Define homologous series.

ISt Py e P rn. 20

21.What is an ester group? Write down the formula of ethyl
acetate

_Q’/{/’u‘{ﬂr‘/ﬁK&ﬂl‘fl&l?q_k@,’/’ﬂl. 21

PSS PE i, 22

23.Differentiate between saturated and unsaturated
hydrocarbons

-/ /e u.lga)u:’/uguﬂjé;/{f kg 23

sl UL s, 24

25.Why are the alkanes used as fuel’7

et UbIusd b L2 ,;(r .25

26.What do you krtow about hydrogenatlon of alkenes?

?wagg.{futgjyéﬂgumﬁfﬂ .26

27.Why alkenes are oalled oIeflns ?

AL AR )

S Ll T 28

example

_L[/wU3cdc‘_wgﬂldJﬁ%l. .29

30.Give the charactenétfcs of monosaccharides.

S F ke S35 9. 30

31.What is difference between glucose and fructose?

NS AL RIS YT

32.Describe the uses of carbohydrates.

?Q/uy..:«ﬂl;’l":uéjﬂz’zg. .32
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33.Where are the proteins found? sutdedyuldig. 33
34.Why the ten amino acids are essential for us? ?w%uz/égﬂﬁ SAIFUS . 34
35.How are proteins formed? "%@4{%’34. .35
36.How is gelatin obtained? v;wﬂd’ud’{u“’. .36
37.Give the general formula of the lipids. f%,,w/g,;, .37
38.What do you mean by genetic code of life? v,_w_,;uﬁ,;,[y_ .38
39.What s the function of DNA? g o7 FPCDNA 39
40.How you justify RNA works like a messenger? te by L;"’RNA,@!Z‘E/ ol T, .40
41 l.llaitzﬁzgntiate between primary and secondary air ", /,,f,}'bf‘fv‘ ,};‘5,%&4,;‘5 A1glin, M
Zg.State the major sources of CO and CO2 emission. u“ﬂ /,;(':;LU ;,4: CO; »CO .42
43.If there was no COz in the air, could we survive? .;:f" 95‘%, i Tdns COz i1, .43
44 Point out two serious effects of ozone depletion. _Q /i e HALE G L sisl. A4
45.How ozone layer forms in stratosphere? e ?Lc? J/uunuﬁ/"r/. 4

46.How is ozone layer being depleted by %uw d’f AT D.: . 46
chlorofluorocarbons? I R ¥

47 Why non-polar compounds are insoluble in water? S 7 2wt U SIS g . AT
48 How water dissolves sugar and alcohol? | 17T T Sl UL ISPy, 48
49 Differentiate between soft and hard water? S A . 49
50.What are the causes of hardness in water? Sl LUE A, 50
51.What is difference between biodegradable and non- S SIS S ALt S, 51
biodegradable substances? R o
52.How detergents make the water unfit for the aqug_’uc Ilfe’? sty d L IS4 46@& T2 kb, 52
53.How is roasting carried out? ¢ QoS b Bos. 53
54.What are the advantages of Solvay’s procg§§?"'---..: . I L LT 4. 54
55.What is the principle of Solvay’s process? L Pl U s 4o\, 55
56.How is ammonia prepared for the synthesis (.')f..p'r’ea?....?}"' ¢ttt et iz Sis. 56
57.Describe the formation of petroleum. " " e B Es k. 5T
58.Give a use of kerosene oil. . -uf/}':,uwflédlfu:ﬁ/f. 58
59.Describe the difference betwe;gfij:_glle'éél 0|I ) fueI oil. IS AF TR ST 5. 59

S SIS T b ST/

1.What is the dlfference beiween reactants and products? Give
example.

Y J‘Jlfﬁ‘."gu" /Lfgﬂ uﬁ/ﬁ{/ﬂ

2.Define forward and: reverSe reactlons

-L[/J.?';Juﬁ‘gdjdd_u:lbus 2
3.Write any: twif)'}n’"éé'r'o‘scopmcharacterlstlcs of forward reactions. S Feker® __{,é, IR B
4. Write two pOSS|b|I|t|es nfehemmal equilibrium state. _U:J"g/,”‘; oSEASEILSL 4
5.Describe any two macroscoplc characteristics of dynamic TSP L R SSEASEIES 5
equilibrium. R )
6.How atmospheric gases are used to prepare chemicals? Sl el Lé b s A e A2 6
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7.What is meant by limit of a reaction?

Sl /.lzf:_,wd/ uf‘glu'l N

8.Why reversible reactions do not reach to completion?

e 7 UL CEUE ARGy 8

9.What is meant by active mass? Write its unit.

ALK e e 9

10.Define law of mass action.

LIRS STy 10

11.What is meant by equilibrium constant?

vc.,yu”:.wf(/uﬁ A1

12.Nitrogen and hydrogen combine to form ammonia. Write
equilibrium expression for this reaction.

HA /dﬁc’.éu’(ld;w_wg_bwl/mf s 'J,vu’; e 12

13.Predict the extent of the reaction when the numerical value of
Kc is small.

_éofw&,&ﬁ d/Llry-lé:d;xd/J Ke .13

14.Define Arrhenius concept of acids and bases.

..u‘/..ﬂ/ g;é_}p LM/IJQ/L L/’ sk 14

15.Write the limitations of Arrhenius concept.

..... -ufw:mul/v Lo A5

16.Define lewis concept of acids and bases. Give example of
each.

_u;‘{ ult:«_ﬂm.t//.ﬂ A ] Lo mita Ly A6

17 How BF; acts as lewis base?

18.Write the names of two mineral acids.

.. B vg/r(@)&f’dﬁézx)‘f@ﬁ A7
R u“erZ:M*‘U/» A8

19.Write neutralization reaction. Give example.

_JJdt'ual}lﬁw{ldj‘f/U’/f A9

20.Write the uses of nitric acid.

L2 SF e 20

21.Write the uses of sulphuric acid.

..... Sl L LS 21

22 Write the uses of acetic acid.

23.Write down two uses of magnesium hydroxide.

U‘JVUWI;;LMU';/NQ(':? 23

24 Define base. And explain that all alkalis are bases but all bases

are not alkalis.

_ugu“ ,ﬂﬂ/ Bt e S S onmy Sy St 24

25.Define hyperacidity.

A P SE A 25

26.Write two preventions from hyperacidity.

_u.‘."a/,,-.mfyw&g;@gut .26

27 .Define acid rain. L,

SIS 2T

28.What is meant by conjugate acid and conjugate base’r‘ ExpTam .'

with the help of an example.

gLl S s e e e S LE I TEY 28

29.What is meant by amphoteric compounds? Exptatn that water |s

an amphoteric compound.

¢ SR ML S S eolont e o p e 5L 2 3 .29

30.Write two differences between acids and bases

_u:"a Sincend o islily 30

bronsted base?

?‘Laf'gtﬂu:",uﬁ{djﬂulufﬂjl .31

32.What is meant by pH? Write down the uses Qf pH

_u)’{/’gumé pH "L;I/Lfr—pH .32

33.What is meant by indicator? Explatn with. examples

é..—?b;c_u)l'?"a)l/lr(c_/ % .33

_Q)JV/;IQ/..Q/’JJJVJ/L' .34

-u..JwJJWI»LJUV .35

_Q/UQJ)U:JUVJQIJ:IJUV# .36

_djaﬂb;lﬁ:éw(:y 37

\=. /Lf(a.cﬂfl e ST 38

39.Write down the chemtcal formula of gypsum

i e 39

40.Write down the formula of potash alum and ferric alum.

N UIJGLKE-IJ /i'ule-vng. 40

..u:‘.J .‘;!JWI»LQ&IJI{Q;’ ..M

42 What is condeﬂsed formula'? Give example.

S Ui 42

43.How carbon completes 4ts octet and why it does so?

PNy FUSS ol e Tetei . 43

44 Define structural formula. Write the structural formula of n-
butane and iso butane and give example.

Ju’lulu..ﬂﬂrﬁdﬁ//’f(uf&r’lfulufﬂ —n-g[/uéid/ﬂfjl;d{/f. 44
- sJ&
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45.Define closed chain compounds. And also give an example. Ly Sy PSS, 45
46.Define open chain or acyclic compounds. I S A . 4
47 What is meant by homo cyclic compounds? S e S5 By, AT
48.Differentiate between coal tar and coke. " /ubd;&;{,g,w S 48
49.What is coal gas? Write its use. " /uwb,;,,ng q:-Lfde 49
50.What is destructive distillation? s C_quz‘&" 52 4. 50
51.Wrote down the two conditions for catenation. " /w .M /"dék‘! 23 L. 51
52.What is meant by vital force theory? g% /Cfcd/r"u’/!d'b 52
53.What is the difference between aeromatic and alicyclic ¢ 4_0 /l/u*J M’Qﬁ'_@v&,ﬂ, syl 53
compounds?
54.Describe the modern definition of organic chemistry. - T /Uk et / A»Jd A£G, 54
55.How a sniffing dog can recognize the person’s smell? e, ég.u,ﬂ/ )JQ’,,JU AU E . 55
56.Write the names of different types of coal. e LSS S 56
57 What is the importance of natural gas? s S et L3, 5T
58.Define anthracite. Write its one use. u“’gd&**" LKAy S 3 P S e A, 58
59.Write down two uses of organic compounds. T I w1, 59
60.Write down the use of organic compounds as medicine. o T .-J/UVVUMLJML{JCW}LVL”’ -
61 .Wha; are alkyl radicals? Write general formula and give e, -d 1, ¢ Fr b2t s Jes 2l L E S e, 61
g?lg(zlain different radicals of butane. F S § L fy 62
63.Defi|r;2 functional group of alcohols. And explain alcohols with s o) / _’}w‘; Yol sy S YA SFBL el 63
gf\;vnt?at ie meant by ester linkage? Write general formula. -ui"iﬂ 26 ‘a:l/lfa_@cj 2. .64
65.Define isomers. Write the isomers of pentane. N AT g f 3 P So T, 65
66.What is meant by bromine water test? = Ses ol i Hotss. 66
67.What are hydrocarbons? Give two examples. "z uijlf“»‘-wlf‘/"-/%/ft- 67
68.What do you know about hydrogenation of alkanes’? ' STt 4L 72, iittfﬁﬁ'- 68
69.What is meant by exchange reaction? Give an exampte e ' i p e PG K L. 69
70.Write down the uses of chloroform and carbon tetrachlond )4 321 e f’s’/’b/- 70
71.Write down the two uses of methane. - """" vl 11
72.Write down two characteristics of homologéus:'eeries?::j I By P, T2
73.What is hydrogenation? Give example . aJes ‘Lyﬂf-’;fuﬂ. 73
;:Izg\évqalkenes are prepared from dehydro halogenatlons of alkyl te ke 4/54_ P S S, 14
75.Why alkenes are reaot|ve’? | Sy satud s, 15
76.Write down some uses of ethene e T gL PN 16
77.What is meant by alkenes'? erte‘.thew general formula. il |26 /Lfcj-:fl. 77
78.Write the chem|cat and structural formula of benzene. il A il re. T8
79.What are unsaturated hydrocarbens'? Ctd et . 19
80.What is the, difference between glycol and glyoxal? v G S TR IS SE. 80
81.What is thedtfference between alkanes and alkynes? ted /'l/uf)"%!"/-:’('- 81
82.Write down fourcharactenstlcs of alkynes. L eekor® 576, 82
83 Write down two Uses 6f acetylene _;:«Q‘UL,:,,” ‘g’,“,‘. . 83
84.Define monosaccharides. Gk 84
85.Write down the characteristics of oligosaccharides. S ekos® S 5241, 85
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86.What are polysaccharides? Give examples. -L[:Lffui’l‘f’?wé'—ngiﬂ yau J. .86
87.Describe the use of dextrose in drips. I3 /,Q 87
88.Write the structural formula of glucose and fructose. UJ Uy b //.,g/. Yy /£ 88
89.What is meant by triglycerides? Give their examples and write u“’gfﬂwbd | 26 /-J:U‘Jvd/ul‘" aﬁf /L{ré M/"di . .89
their general formulas.
90.What are the sources of carbohydrates? o‘m@u, Zu"m 4 .90
91.Write the difference between essential and non-essential amino NI I L'Mubu';;; vUECY. 91
ggl.(lji)sefine proteins and write their basic units. UJF‘ Ku" ,td,uzwmi.d Py 92
93.What are lipids? Give their examples. . _U,J@Ju,vwangj »). 93
94.Describe hydrogenation of vegetable oil. ; ....'";J /uvu’-"fu QJJ”J:‘:; ,. .94
95.What is the difference between cilsand fats? | .. LR e c.g/t/u"u"'ul 47 95
96.Write the sources and uses of lipids. _‘j /ul/..m-rml/m Z; 5. .96
97.Why RNA is called messenger? g €_w,(u 7" RNA .97
98.What are nucleic acids? Write the constituents of nucleotides. wa,, F1L 35 Eit S Aa Ky, 98
99.Explain fat soluble and water soluble vitamins. Ty S el e By b s, 99
1OQ.Write the sources_and use of water soluble vitamins. Also i f{/‘ '-r‘:"ﬂ"‘;d/ Ju,”,um,,,‘ e &ty J’, Js. 100
write symptoms of their deficiency.
101.Whatis the difference between atmosphere and environment? | .~ - S ORI A0
102 Write down the composition of dryar. | dA5 % RS _ug“‘.;a )%IJ, w . 102
103.Write down the uses of nitrogen and oxygen. - Sy F el ch;jf/;l‘f; S 103
104.1f CO2 is not present in the air, can we live? 9&2014’,;Jﬂ;8”~. CO, 4/t 104
105.What is troposphere? Write down two characteristics. _ug‘/'_.,?,é”@—,g Rt 105
106.How temperature of atmosphere is maintained? Se bl L N g /;?g/f.grw_ 106
107.What is meant by air pollutant? Give two examples ..... ; : _q,uéc,,,g%,, Pl e eddylin. A07
108.What are primary and secondary pollutants? Wnte drfference . S )‘ﬂu,/,,gufmﬂﬁgdj s Ag 108
between them. - - l
109.Why CO is considered hazardous for health'7 Sty Lo L=5{CO 109
110.What is meant by air pollutants? g‘aj,/gé_u!%‘,gggm_ 110
111.What is meant by incineration? g‘é,,/gé‘f'.f,_ 111
112.What is meant by greenhouse effect? St o e LB S 112
113.Write down two effects of global warming‘"' AL el B g 13
114.Write down two effects of acid, raln """""""""""" et Pl A4
115.How acid rain is produced" ?+G§C AUy M5
116.Why acid rain damages buJIdlngs'7 S QLU I k. 16
117 .How aquatic life is affected by emd ram’7 -------- ¢ ‘43; Yo eloWle ity AT
118.Why CO; is caIIed greenhouse é.es? ¢ ‘ég,k(u,{uf U:M /.CO, 118
119.Define ozone and ozone hole e FSUngsistsigsis. 119
120.What is meant byOZone hoIe‘? S e Jngn. 120
121.Write dow. four..Qh.a.@?tenstlcs of water. U ek Sy 121
122.How waier nses in.plants?, DAL IS )u’&gufu»z- 122
123.Explain how |ome eompounds dissolve in water? stlnf 4’&“{;& m?/__;,ff Syl eolos, 123
124 Water is a universal solvent Explain. - /yu,_‘éwyuv,agg_ 124
125.Write down the causes of water hardness. st el S S A ., 125
126.How washing soda softens water? St /4(_,;,,[@,;,,_,@,,. 126
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127 How sodium zeolite softens water?

et/ L e iyifsy. 27

128.What is meant by boiler scales? How can they be removed?

e WP A e pfe K Sy, 128

129.Write down two disadvantages of temporary hard water.

u"ﬁ :—UW};L/‘M/W{ /" 129

130.Why pesticides are used?

S L el w-" 130

131.Describe the effects of industrial effluents.

“Je uu..,l/téu"”ﬂ’t) /,uf 131

132.Describe the effects of water pollution.

_u/ uL.A,/tiu’;:‘;/t, 132

133.What is meant by leaching process?

"A.JI/U(::.U'V Lg..ﬁ"’ A33

134.How pesticides can cause water pollution?

vwa‘wwywéj 134

135.What is the difference between biodegradeable and non
biodegradeable substances?

e G ui’;ud"ﬁ/ dﬁytumu)‘u/ id. 135

136.Describe the chemistry of swimming pool cleanliness.

137.What is meant by hepatitis?

_u/uw /Jt}wJJg..Car 136
P e "L)l/b‘/:_u" . 137

138.Write the names of four water borne diseases.

139.What is the cause of cholera? Why is it fatal?

_.. ria LUJJP Jlotf d/ dt;d_xl :_,.”d/ L}L 138
A fv‘-ﬁ"’ U)J/ ,«J:l"q.lr’/;:‘; - 139

140.What is jaundice? Write down its symptoms.

141.Write about cryptosporidium.

e ﬁu_’/gfal.tkgfu’wt?q.t/ub{. 140

142 .What is meant by fluorosis?

S e 0P, 142

143.What is meant by metallurgy?

P Sed e G R 43

144 Write the names and formulae of two copper ores.

T L iaLowpLnige, 4

145.Write down the difference between minerals and ores.

_u:/ugof'uﬁjjﬂfulj/". 145

146.Define gang.

JIw S 46

147 What is the difference between slag and matte?

("LJ /y/u.‘.' @J}lu‘a/. 47

148.Explain the concentration of ores.

el Sond. 148

149.What is gravity separation?

Se A by 149

150.What is meant by froth floatation?

S e SEBA) 50

151.What is meant by electromagnetic separat|on?

S Ve gl B 151

152.What is meant by roasting? Write its chemical reactlon WJth

respect to copper metal.

-L[/ {}' uﬁﬂd/ﬂ U119 d:gﬁf.gg?‘a)l /y/c_..&‘u. 152

153.What is meant by bessemerization process'?

?‘L;t/gcu/;{ﬁ'//tﬁ. 153

154 What is meant by anode mud and bllstercopper’?

9‘4)1/.15-(4.4(/‘) 1435, 154

155.Write down the role of technology in the preparatlon of
common chemicals. T S

LN SENR S Az K. 55

156.What is meant by calcmatlons‘?

P e u’-w 156

157.Draw the flow chart dlagram of Solvay S process for the
preparatlon of sod|um carbonate i &

S a2 BT e N Li bosikfsy. 45T

te e COp by sge s, 158

159.Write the preparatlen of ammonla |n Solvay S process.

I lerie g . 159

160.Describe the method of. granulatton of urea.

S S Gy 160

161.What is meant by natural fertllrzer'?

..J.‘.J =19 g, .162

?‘L)'/Lr(é—ué:léy(; fi; 4 163

164.Write down two uses of petroleum ether.

-uﬁoﬂb“’l»é}-’-lﬁdﬁ,. 164

165.Write down the uses: of diesel oil.

ey LSS 165

166.Write the uses of gasoline.

S I W ST

167 .Which petroleum fraction is not used in dry cleaning?

U1 s s o EBESs. 6T
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168.Write down two uses of petroleum gas. _u."J,;,UWI,;L‘jf rﬁ, k4 168
169.Write down two uses of fuel oil. _ﬂ;,uw;,,g‘fg’d,é, 169

1 f 2R kS Ly S5 pne

1.What is meant by reversible reaction? Write their characteristics. .. o ;c' St A
Explain reversible reactions with the help of an example. ) T FA 4
S TN - 7
2.Write the macroscopic characteristics of forward and reverse u‘u‘wiu’rldwuhu fubyu ,,,7 -{F : ;J d’*(io‘/ Sodonink. 2
reactions. What is the difference between forward and reverse
reaction? ) -d/ UW/uﬁu’r IS
3.State law of mass action. Also derive equilibrium constant e LA /6’9 43- L u"'/td/ 2 é—)/”-l.f /ub ST, 3
expression for the given chemical reaction.4A + B 2 € + D ER
A T ‘B 2 C + Dy/u
4 Explain that how can we predict the direction of any reaction uﬁbJ =R S J&Jﬁf,djw' - )‘;J.«M JEAS £ 1 YSeolos. 4
from the value of equilibrium constant?
T
5.Describe Arrhenius concept of acids and bases and explain with |, , ¢ & w-u /;;L” e ijt,ﬂ, NI LT A T
examples. Also write the limitations of this concept.
6.Describe Lowry-Bronsted concept of acids and basesand | . 6
explain with the help of examples. | Sl
7.What is meant by conjugate acid and conjugate base? Explain Jﬂ /,, d},, ,w, /_J /5,, Uttt e el Pian e 1
with examples. Write the limitation of Lowry-Bronsted concept. |7 ™. fes®
_ ..u’/ul/uw
8.What is meant by neutralization reaction? Explain with the help - Sl Ut e e Sty 8
of examples. i T o
9.Write the names of naturally occurring acids and also write their . o /Pulf.gﬁym Lo ui‘ﬂ ot Lzl i bz g $3.5. 9
SOurces. : % LG b2} .
10.What is meant by indicators? Explain with examples. S eolore UM et e 51 A0
1.Write down the methods of preparation of alkanes. . IS qu‘;ﬁﬁ,_ "
2.Describe substitution reaction. Explain it with the Help, of ISl u.‘.f! T, Ugé:r}:,_ ISP L A2
halogenation of alkane. o . - e
3.Write the uses of methane and ethane. - I AL a;‘ml w;%‘-' 13
4.Define hydrocarbons. Write down two methods of the EFE b Ldll?u(};r'-d S k. A4
preparation of alkanes. S : N ® T
5.Write down the uses of ethene. P S f et L u:.g%' 15
6.Explain different methods of the preparatlon of ajkynes IS ol SuB S LSS Y. 16
7.Write down the chemical reactions of'alk'ynes _____ TS NAEIELE G, AT
8.Describe the classification of carbohydrates Grve examples g S u*,ﬁ‘:" 55 u':’/fft ARL
9.Define carbohydrates. Also explam monosaccharldes IS ol § i iy S i u':‘u‘ft ARL
10.What are polysaccharids? G|ve any tiwo- examptes and write o S s 8 2 S8y, 20
their properties. e * A #1704
11.What are proteins? {\rite their chemical structures. In which cutdbdy oz S sl St d i ¢ .21
compounds they are: present’? L T wEem T ®
12.What are nucleic’ amds’? Wnte the components and types of - /4/2'(” e (U!Juwwzt Lt CE s LSt C . 22
nucleic acids. " - T mmTEaes
13.Write the functlo.r,t.s..Q.fBNA Wnat is the similarity between the ¢ B WL e e\ $5% < FUSERNA .23
functions of DNA and RNA?™,  ~ T - - -
14 Write the” detatl of oommerc:lal importance and uses of . U:J ‘,k.“"’t!c,uu-?/mv el dedAr. 24
enzymes. ) A
15 Describe the sources and uses of vitamins A and D. LSS st s £ D st A s, 25
16.Explain fat soluble V|tam|ns Describe the importance of et P /_.,,L;,Jj,,,,‘}!, 3. 26
vitamins. - - -
1.What is meant by soft and hard water? Write the causes of water Sk P TYY R SIS RYRNS O |
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hardness.

2.Describe the types of water hardness. SIS A, 28
3.Explain the methods of removing permanent water hardness. S oo SUR AL S ond iy Sl 29
4.Explain that domestic effluents used water is also a cause of etk ,;,o“‘jgwwu")’l..&*ﬁf e,//..»la. .30
water pollution.

5.What is meant by metallurgy? Explain terms related to Y eoos§ I ey ),h(- &5 /Lféﬁ A 31
metallurgical process.

6.Explain briefly froth floatation process. e :-J“‘TJ/J{J' $715. .32
7.What is meant by smelting? Explain with reference to smelting Yol gl Lu?- LJ’# 4!{? 2 fbr,_ B 33
process of copper metal.

8.Define bessemerization. Explain with reference to el g e J_,,, &J" 4K-u‘ / “y /"JM S, 34
bessemerization of copper metal.

9.How sodium carbonate Na;COs is prepared from Solvay’s 35
process?

10.What are fertilizers? What is the difference between natural and .36
artificial fertilizer? Also explain that natural fertilizer is better than

artificial fertilizer.

11.What is meant by fractional distillation? Describe fractional 37
distillation of petroleum.

12.Write down the names, composition, boiling range and uses of .38

important fractions of petroleum.
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